MIAMI-DADE COUNTY, FLORIDA

MIAM I-DADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901 FAX (305) 375-2908

NOTICE OF ACCEPT ANCE (NO A) www.buildingcodeonline.com

Recol, Inc.

6861 SW 196™ Avenue
Pembroke Pines, Florida 33332

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Framed Screen Enclosure

APPROVAL DOCUMENT: Drawing titled “ Screen Enclosure ”, prepared by Tilteco, Inc., sheets 1 through 6 of
6, dated January 13, 2006, last revision #1 dated January 13, 2006, signed and sealed by Walter A. Tillit Jr., P.E. on
February 23, 2006, bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: A permanent label with the manufacturer's name or logo, city, state and the following statement:
"Miami-Dade County Product Control Approved", shall be attached to the bottom of each chair rail.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises & renews NOA # 01-0228.08 and consists of this page 1, evidence submitted pages E-1 and E-2
as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.
[/ )4 M\/ NOA No 06-0112.02
: Expiration Date: 03/12/2011

et Approval Date: 05/18/2006

09/18/1006 Page 1




Recol, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVA #97-1212.02
A. DRAWINGS:
Drawing Number Drawing Date Signed and Sealed By
Sheet Number Latest Revision Date Date
94-193 September 16, 1994 Walter A. Tillit, Jr., P.E.
Sheets 1 through 6 of 6 Revised: June 10, 1996 June 12, 1996
B. TESTS
Test Laboratory Construction Testing Corporation
Test Number CTC 95-013
Type 1,480 lbs. positive or negative wind load on 5 in. Aluminum
Super Gutter.
Test Signature Christopher G. Tyson, P.LE.
Test Date(s) April 29 & 30, 1995
Test Laboratory Construction Testing Corporation
Test Number CTC 94-011
Type 1,015 Ibs. tension wind load on 1/8 in. steel cable.
Test Signature Christopher G. Tyson, P.E.
Test Date(s) November 11, 1994
C. CALCULATIONS
Signature Date
Walter A. Tillit, Jr., P.E. October 20, 1995
Walter A. Tillit, Jr., P.E. Revised June 10, 1996

2.  EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 01-0228.08

A. DRAWINGS:
1. None.

B. TESTS
1. None.

helor d Ml

elmy A. Makar, P. E.
Product Control Examiner
NOA No 06-0112.02
Expiration Date: 03/12/2011
Approval Date: 05/18/2006




Recol, Inc.

C.

D.

w

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

CALCULATIONS
None.

MATERIAL CERTIFICATIONS:
None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing titled * Screen Enclosure ”, prepared by Tilteco, Inc., sheets 1 through 6
of 6, dated January 13, 2006, last revision #1 dated January 13, 2006, signed and
sealed by Walter A. Tillit Jr., P.E. on February 23, 2006.

TESTS
1. Nore.

CALCULATIONS
1. Calculation prepared by Tilteco, Inc., sheets 1 through 140 of 140, dated February
23, 2006, signed and sealed by Walter A. Tillit Jr., P.E. on February 23, 2006.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
I None.

STATEMENTS

L. Letter prepared by Tilteco, Inc., dated February 23, 2006, signed and sealed by
Walter A. Tillit Jr., P.E.stating compliance with the Florida Building Code , 2004
edition.

}/e/é«m/Mp

Helmy A. Makar, P. E.
Product Control Examiner
NOA No 06-0112.02
Expiration Date: 03/12/2011
Approval Date: 05/18/2006



GENERAL NOTES:

1. SCREEN ENCLOSURE SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN
VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING
CODE WITH THE 2005 SUPPLEMENT.

DESIGN WIND LOADS HAVE BEEN DETERMINED AS PER SECTIONS 1620 AND 1622 OF THE
ABOVE MENTIONED CODE. IN ORDER TO VERIFY THAT ANCHORS AND ALUMINUM FRAME ON THIS
P.A.D., AS TESTED, WERE NOT OVERSTRESSED, A 33% INCREASE IN ALLOWABLE LOADS FOR
WIND LOADS WAS NOT USED IN THEIR ANALYSIS.

SCREEN ENCLOSURE ADEQUACY FOR WIND RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1714 OF THE ABOVE MENTIONED CODE AS PER MTL LAB REPORTS # 16259
(MANSARD ROOF BEAM SPLICE), 16189 (TYPE 1 SUPER GUTTER) AND CTC LAB REPORTS #
95-013 (TYPE 2 SUPER GUTTER), 94-011 (WIRE CABLE) AND AS PER STRUCTURAL

CALCULATIONS PERFORMED AS PER SECTIONS 1612 AND 2003 OF THE FLORIDA BUILDING CODE.

2. SCREEN FABRIC OPENINGS SHALL BE 60% OR GREATER.

MAXIMUM ROOF ELEVATION ABOVE GRADE IS 15’-0".

3

4, ALUMINUM THICKNESS SHALL BE AS INDICATED ON THIS DRAWING.

5. ALL ALUMINUM EXTRUSIONS SHALL BE 6063—T6 UNLESS OTHERWISE NOTED.
B.

ALL BOLTS TO BE AISI 304 SERIES STAINLESS STEEL, OR ASTM A-307 DESIGNATION
GALVANIZED STEEL.

7. ALL SCREWS SHALL BE AISI 304 SERIES STAINLESS STEEL OR CORROSION RESISTANT
CARBON STEEL AS PER DIN 50018.

8. ANCHORS TO CONCRETE SHALL BE:

— HILTI KWIK BOLT 3 ANCHORS FOR CABLE CONNECTION TO CONCRETE.
MINIMUM EMBEDMENT OF HILTI KWIK BOLT 3 ANCHORS INTO CONCRETE SHALL BE 1 5/8".

— ELCO TEXTRON, INC. TAPCON ANCHORS FOR COLUMN CONNECTION TO CONCRETE.
MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE SHALL BE 1 3/4”.

EMBEDMENT LENGTHS NOTED ON DRAWING SHALL NOT INCLUDE STUCCO OR FINISH MATERIAL.

9. WOOD FASCIA WHERE SCREEN ROOF IS TO BE ATTACHED SHALL HAVE A MINIMUM NOMINAL

THICKNESS OF 2" AND SHALL BE IN A SOUND STRUCTURAL CONDITION. ADEQUACY OF THE
EXISTING STRUCTURE SUPPORTING THE SCREEN ENCLOSURE SHALL BE VERIED BY A FLORIDA
REGISTERED ENGINEER PRIOR TO ATTACHMENT OF THE SCREEN ENCLOSURE STRUCTURE.

10. DOOR LATCHES AT SCREEN ENCLOSURES BUILT ADJACENT TO SWIMMING POOLS SHALL BE
LOCATED AT 5'-6" ABOVE THE FLOOR AND SHALL BE SELF CLOSING.

11. ELECTRICAL SERVICE DROP CONDUCTORS OR ANY OTHER OVERHEAD WIRING SHALL NOT BE
INSTALLED OVER ANY PART OF ANY SCREEN ENCLOSURE.

12.  ANY METALLIC ENCLOSURE WITHIN 5'—0" OF THE INTERIOR WALL OF A SWIMMING POOL
SHALL BE ELECTRICALLY BONDED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE.

13. MINIMUM SOIL BEARING PRESSURE SHALL BE 2000 P.S.F.

14. CABLES SHALL BE STAINLESS STEEL AND SHALL HAVE A MINIMUM TENSILE CAPACITY OF
2200 Lbs.

’L/Z»’ D&

15. CONCRETE TO DEVELOP A MINIMUM COMPRESSION STRENGTH OF 3000 psi AFTER 28
DAYS. CONCRETE MIXTURE AND PLACEMENT TO COMPLY WITH THE PROVISIONS OF THE ACI
318-02.

16. REINFORCING STEEL SHALL BE ASTM A-—615 GRADE 60, WELDED WIRE MESH SHALL
COMPLY WITH ASTM A—185.

17. ALUMINUM MEMBERS IN CONTACT WITH DISSIMILAR MATERIAL SHALL COMPLY WITH SECTION
2003.8.4 OF FLORIDA BUILDING CODE.

18. (a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i. e. WHERE THE SITE CONDITIONS DEVIATE FROM

THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELE‘CTION, PURCHASE AND INSTALLATION
INCLUDING LIFE SAFETY OF THIS PRODUCT BASED ON THIS P.A.D. PROVIDED. HE/SHE DOES
NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT

SITE IS THE CONTRACTOR’S RESPONSIBILITY.
(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND
WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD,
ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER
THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE
PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

PRODUCT REVISED

&5 complying with the Florida
Buiding Code
Acceptance No O 6-

Division

F.B.C. (High Velocity Hurricane Zone)

SCREEN ENCLOSURE e
1/13/06
> I I RECOL ALUMINUM PRODUCTS DATE
o m@j)\ IL E CcCoO INC. 13280 NW. 43th AVENUE
T o TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 06—006
5355 NW. 36th. St., Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 Phone : (305) 688—8687 ; Fax : (305) 688-2224
Phone : (305)871—1530 . Fax : (305)871-1531 DRAWING No
EB-0006719 REV, No DESCRIPTION DATE REV. No DESCRIPTION DATE
WA:__‘LTglePR BI(;LI';g J&1);.7 E. ; OLD 84193 1/13/08 : SHEET 1 OF 6




BEAM SCHEDULE (ROOF)

mee| g | e [ mencn
B H T1 T2 4-0" | 5-0" | 6’0" | 7’-0"
3SB 2 3 .050 050 | 9'-7" *|8-7" *{7-9" x|7'-2" +*
45SB 2 4 .050 050 [11°-11"%[10-8" *|9'-8" *[8'-11" *
4B 2 4 .050 120 [15°-3" * [14°-2" *[12°-11" *|{12'-0" *
6SB 2 6 .062 120 [17'-10" % [16'—4" *[15'-2" *[14'-3" **
7B 2 7 .062 120 [19°-6" *[17'-10"*]16'-8" **{15'-8" **
8LB 2 8 .072 224 24'-1" % |22'—4" #x|20'-10"**[19'-8" **
9LB 2 9 072 224 |25'-107%%{23'-9" **{22'-2" **|20'~11"**
10LB 2 10 092 389 |31'-8" **[29'-2" ¥*|27'-4" *¥*|95'9"

* THESE ROOF BEAMS CAN BE ATTACHED TO SUPERGUTTER ONLY WITH REINFORCEMENT TYPE 1
OR WITH REINFORCEMENT TYPE 2 FOR SPACINGS AND SPANS INDICATED AT SCHEDULE.

*%

THESE ROOF BEAMS CAN BE ATTACHED TO SUPERGUTTER ONLY WITH REINFORMENT TYPE 2
FOR SPACINGS AND SPANS INDICATED AT SCHEDULE. NEVER USE TYPE 1 REINFORCEMENT
IN THIS CASE.

COLUMN SCHEDULE (BEARING WALLS)
SIZE THINKNESS | Max. CLEAR COLUMN HEIGHT
TYPE [ * (nch) (INCH) FOR A GIVEN SPACING
B H T1 T2 40" | 5-0"16'-0" ]| 770"
3SC * 2 3 .050 050 7-6" N/A N/A N/A
41C 2 4 .050 .120 11'-6" [10'-3" 9'-3" N/A
6SC 2 6 062 .120 14'-8" 13'-5" 12'-5" 11'-8"

* TO BE USED WITH 3SB, 4SB & 4LB BEAMS ONLY.

COLUMN SCHEDULE (NON BEARING WALLS)
SIZE THICKNESS | Max. CLEAR COLUMN HEIGHT
TYPEL  (Nch) (INCH) FOR A GIVEN SPACING
B H M | 12 |40 |5-0"|6-0"|7-0
3sC 2 3 050 | .050 | 7-5 N/A N/A N/A
asc | 2 4 |.os0 |[.050 |g-0" |&-1" |75 | w/A
41C 2 4 .050 .120 1"°-11" 11’-1" 10'-5" 9'-9"
6SC 2 6 .062 .120 15'-0 15'-0" {13'-8" 12'-8

- 1.330"

.050”
146" l‘
iy f )
T L pn
—4 4
2" 050" ——
J_ C Q168" DA
e

ROOF BOX PURLIN

SNAP BEAM OR COLUMN

1

567"
440" — :‘E- i
(&

# 14x3/4" ©

16" TYP.

TOP & BOTTOM
FULL LENGTH

>

LAP BEAM OR COLUMN

050" 168 DA 050" 168 DIA
—
1.330" —}—.050" 2
.-1L46,,_'J:n LY [($)]
2 — ! 3.000” |
6’ Max. COL SPACING 7’ Max. COL SPACING

WALL BOX PURLIN

.250"

1X2 PATIO

WALL BOX PURLIN

(SB) OR (SC)

(LB) OR (LC)

1.000"
T _I- ”
— 2.000" — — 2.000” — | 1.000
.050" 050" ‘ % 9
| | T 062"
' ' "
¢.1 68"‘@‘; : " 7 _-.072
—{—.050" 2 goo” o» 168" DIA 050" 5.000 4.000"
o S ' 072"~
|
<l 2157 =
.050" —Jf— oT 1.000” 1" .050" — 072"
1 i I—— ) |
.050” . .050” | b
I 5.000"
CORNER COLUMN PERIMETER MEMBER
5” SUPERGUTTER
IViam} Doe
Eeivision
F.B.C. (High Velocity Hurricane Zone)
DRAWN BY:
SCREEN ENCLOSURE LG.
1/13/086
I I RECOL ALUMINUM PRODUCTS DRlE
_¢ 1_“4\ . l L E C O INC. 13280 NW. 43th AVENUE
™ TILLIT TESTING & ENGINEERING COMPANY OPA~LOCKA, FLORIDA 33054 06—006
) 6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 Phone : (305) 688—8687 ; Fox : (305) 688—2224
72 J/ C/’é? Phons (”s)aééng's;?gz (sas)e71-153 REV. No DESCRIPTION DATE | REV. Mo DESCRIPHON DATE DRAWING No
WALTER A E."ém# dro PE . OLD 94193 |i/13/08] 3 ppTE——




EXISTING STRUCTURE ———\\

| 0"\

e — "

/>

\ ‘\

DOME ROOF ABOVE FASCIA, SEE FASCIA
CONNECTION DETAIL 2/4

ALUMINUM BEAMS
PERIMETER MEMBER

ALUMINUM BEAMS

EXISTING STRUCTURE

(SEE SCHEDULEYTYP A
ON SHEET 5 OF 6

\—-DIETAIL 4/4 fko e, )
i OF BRACING %

ey

OR COL. SPACING

~N

I

5'=0" MAX
BETWEEN
WALL PURLINS
MAX

COLUMN
HEIGHT

U

Ny N

ALUMINUM COLUMNS (TYP) \

RETURN CABLE
(REQUIRED EACH SIDE WALL) \\‘
DETAIL 3/4 (TYP.)

PERIMETER MEMBER

I\

TYPICAL DOME ROOF ISOMETRIC

/ coML?J):AN
/| St e
/ WALL PURLINS
{2 / y
S
ETALL 8/5
(TYP)
/
7

e

N
N
N
N
N
b
/ DETAL 3/4

(TvP)
WALL BRACING
(SEE SCHEDULE) TYP.
ON SHEET 6 OF 6
CONCRETE SLAB & FOOTING

ALUMINUM
BEAMS

SEE SCHEDULE .
ON SHEET 5 OF(TBYP

L Z

~

MAX \
COLUMN \‘\ \ 8/5(TYP
HEIGHT
ISTING | .
STRUCTURE 5'—0" MAX
BETWEEN
WALL PURLINS
J N_1X2
‘0 (rYp)

(DTEYTFI;«I;. 3/4

1 x 2 ALL AROUND
SCREEN

EAM OR COLUMN SPACING (SEE SCHEDULE)

DETAIL.

ALUMINUM COLU
DETAL 8/5 (TYP) X

1 X 2 ALL AROUND

RETURN CABLE
(REQUIRED EACH SIDE WALL)

DETAIL 3/4 (TYP.)

PERIMETER MEMBER: g
~
~ ~
DETAIL 1/4
~ & 5/6

] L] \

5'—0" MAX (Dﬁr,;,“';- 7/5 OOF BRACING™

BETWEEN . {SEE SCHEDULE) TYP>~

WALL PURLINS |\ ON SHEET 5 OF & -
MAX. DETAIL 8/5
COLUMN \ oy &/ 2x2 N
HEIGHT \ ~
\
J yoor \ DETAIL 4/4 DETAIL 4/4
\ (TYP.) (TYP) 1X2
\ Z2x3 (Tvp.)
2 %2
DETAIL B8/5
Ve \ (ve.) o)
1x2 AL
AROUND \ 3N
_ DETAIL

BEAM OR COLUMN SPACING
(SEE SCHEDULE)

ALUMINUM COLUMNS (TYP.

EXISTING STRUCTURE

. _—PERIMETER MEMBER
\ ~

. ~
~
DETAD
& 4, 5/8
N < TYP{ ‘ _m ALUMINUM BEAMS

DETAIL 7/5
VSN e
\ /{m).

DETALL
¢/ 4(TYP)
b MAX
COLUMN
O HEIGHT

4

/” 2%3 OR 2x2 *
7 CHAR RAIL

ALL AROUND

S
o/ N

9/5
- (\TYP-) /
- /\<

AN

WALL BRACING
(SEE_SCHEDULE)
ON SHEET & OF

CORNER COLUMN (TYP.)
;YP.

TYPICAL FLAT ROOF ISOMETRIC

NOTES APPLICABLE TO_ISOMETRICS

. SEE ROOF BRACING DETAILS ON SHEET 5 OF 6.

. SEE WALL BRACING DETAILS AND SCHEDULE ON SHEET 6 OF 6.
. SEE DETAILS 1, 2, 3, 4 & 6 ON SHEET 4 OF 6.

. SEE DETAILS 7, 8 & 9 ON SHEET 5 OF 6.

. SEE DETAIL 5 ON SHEET 6 OF 6.

* SEE SHEET t OF 6 FOR VALIDITY REQUIREMENTS.

PRODUCT REVISED

VAW,

// DETA

7 (TYP.I;- /4
7 GRADE

RETURN CABLE
(REQUIRED EACH SIDE WALL)

SCREEN

CONCRETE SLAB & FOOTING

N BEAM OR COLUMN SPACING (SEE SCHEDULE) g{f“*?ﬂiﬁ? ving witk the Florids
{ e — DETAL 3/4 (TYP.) e s Ne06 ~
\/ ~~~— CONCRETE SLAB & FOOTING Eupirption Daie O I
WALL BRACING
(SEE SCHEDULE) TYP. P 7’[ L
ON SHEET 6 OF 8 bﬁz/iam*‘e Dadq prodast Contrel
Dijvision

TYPICAL MONOSLOPE ROOF ISOMETRIC

F.B.C. (High Velocity Hurricane Zone)

" o SCREEN ENCLOSURE o
T
1/13
O I"..IEC o RECOL ALUMINUM PRODUCTS /oe®
WALL BRAGING 3 & Q}. > INC. 13280 N.W. 43th AVENUE
SEE SCHEDULE) & LTRSS = TS TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 06-006
P. ON SHEET 6 OF 6. - o 8355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, FLORIDA 33166 Phone : (305) 688—8687 ; Fax : (305) 688-2224
V z > /Qéf? Phone : (305)871~1830 . Fax : (305)871-1531 — ——r —T e pyee DRAWING No
TYPICAL MANSARD ROOF ISOMETRIC ’ WALTER A TILLT Jr, P. E. T T T 757 —
FLORIDA Lic. § 44167 2 n




I \— EXISTING

SOFFIT

2" x 6" Min.
NOMINAL FASCIA
REQ'D * (TYP.)

SECTION CASE |

x 2" x 3/16" x 2" LONG (4SB)
LONG A'S4LB T0 10LB)
MINUM ANGLE EACH SIDE W/
(.'5) #14 S.D.S. TO BEAM AND
*+ TO FASCIA (SEE BELOW)

* REINFORCE FASCIA CONNECTION TO
EXISTING RAFTERS W/ (43 0.242"
(#16 GAGE) x 3 1/2" LONG F.H. WOOD
SCREWS SPACED AT 1" O. C. VERTICALLY,
AND W/ 1" EDGE DISTANCE TOP & BOTTOM.

s —USE (3) 1/4°% x 2 1/2" LAG SCREWS EA.

SPACED 1 1/2" 0.C. VERT. FOR OLB & 10L8.

~USE g)) 1/4"8 x 2 1/2" LAG SCREWS EA.
SPACED 1 1/2" 0.C. VERT. FOR 4.8, 6SB,

—~USE (1) 1/4"8 x 2 1/2" LAG SCREW, EA SIDE
S.

FOR 3SB & 4SB BEAM
LOCATE LAG SCREWS W/ 1 1/2" EDGE
DISTANCE FROM TOP & BOTTOM OF FASCIA.

BEAM/FASCIA CONNECTION DETAIL @

SZ) 10 S.D.S. (TYP.)
1/2" LONG |

NOTCHED BEAM ©
COLUMN LOCATION
OR UNNOTCHED
2 x 2 PURLIN

PERIMETER
MEMBER (TYP.)

CONNECTION:

2" x 2" x 3/16" x 2" LONG ALUM.
ANGLE W/ (3) #14 S.D.S. TO COL &

(3) #14'S.D.S. TO BEAM (3/4" LONG)
FOR_PURLIN CONNECTION:

2" x 2" x 1/8" x 2" LONG. ALUM. ANGLE

N
L]

ERNAL

SZ) 10 S.D.s. (TYP.
1/2" LONG INTERI

1" x 3" x 0.062" x 3" LONG
ALUM. ANGLE OR BENT PLATE
W/ (4) #14 SD.S. (3/4" LONG)

\— ALUM. COLUMN

CASE 1:

FLAT BEAMS

W/ (3) #14'S.D.S. T0 COL & (3) #14 SD.S.

TO PURLIN (3/4" LONG).

BEAM
OR 2x2 PURLIN

(3
EA,
&

NLY FOR

) #14 S.D.S.
. SIDE

/4" LONG
EAM

CONNECTION,

2
1

ALUM. COLUMN ~———==

10 S.D.S.

1/2" LONG INTERNAL

SEE TYPICAL BEAM To COL.
CONNECTION ON DETAIL 4
CASE 1 OR 2.

SIDE,

SIDE,
7B & 8LB.

SECTION CASE |

FASCIA CONNECTION DETAIL @
(DOME ROOFS)

PERIMETER

(2) #10 S.D.S. MEMBER (TYP.)

1 1/2" LONG
INTERNAL

BEAM
OR 2x2 PURLIN
-
3) $14 SDS. L2
3/4" LONG)
NLY FOR BEAM
CONNECTION.
.032 SHEET
ALUM, CAP
A W/ (2) #10 SDS.
/ IH TO BEAM.
(2) $10 SDss.
11/2" LoNG
INTERNAL

TYPICAL BEAM & PERIMETER MEMBER

(2) #10 S.D.S. INTERNAL
1°1/2% LONG

CASE 2: SLOPED BEAMS

CONNECTION TO COLUMN DETAIL @

ALUMINUM BEAM

11/2" x 2 3/16° x 1 1/2"

0.062° X 3
CHANNEL W/ (3)

LONG ALUM.
14 S.D.S.

TO COLUMN OR BEAM &
(3) #14 S.DS. EA SIDE TO
BRACE (TOP & BOTTOM)

4SC OR 4LC
3SC, 4SC OR 4L.C

2" x 2" x 3/16” x 4" ALUM. ANGLE
EA. SIDE W/ (3) #14 S.D.S. TO
COLUMN & (3} 1/4" x 5°

{AG SCREW TO FASCIA

6" MIN. LENGTH X 6" MIN.
HEIGHT WOOD SPACER AT
EACH COLUMN.

EXISTING FASCIA
BOARD 2" MIN. NOMINAL

THICKNESS

x 6" HIGH.

ALUMINUM COLUMN—]

v

X=X

ADDITIONAL 2° x 2 x 3/18" x 2" LONG-\

ALUM. ANGLE EACH SIDE WITH
(2) #14 x 3/4" S.D.S. TO COL.
AND '1/4" TAPCON

ANCHORS TO CONCRETE

l 2" x 2° xL:'é/16" x 2" LONG
l ALUM. ANGLE EA. SIDE W/
1/4"% TAPCON ANCHORS
TO CONCRETE.

4" THICK CONC. SLAB

JI/ (2) #10 x 1 1/2

EACH SIDE AND WITH

2 1A '_IIIT 1/4"s TAPCON ANCHORS
TO CONCRETE © 16” 0. C.

_.j' —I——l— 6” lMIN.

8" x 8” CONT.
CONC. FOOTING W/
(2) #5 REBAR

SECTION

COLUMN TO FOOTING ANCHORAGE DETAIL @

B

SECTION X-X

(2) #14 x 3/4" S.DS. EACH SIDE

" x 2" ALUM. CHANNEL

N.T.S.

ALUMINUM SPLICE PLATE EACH SIDE

INSIDE ALUMINUM BEAM 1
(6063-T6 ALIE’OY)TEW/ (16) #14 x 3/4°
LATE.

S.D.S. EACH

/8" THK.
QTY. EACH PLATE

#14 x 3/4" S.D.S.
SCHEDULE FOR

2" WIDE ALUM. SPLICE
PLATE TOP & BOTTOM.
°t" THK., SEE SCHEDULE

I (B0B3—T6 ALLOY)

SPLICE DETAIL @

FROM COLUMN.

s|n|:' PI ATE SI‘FEQI 1Ic
(INTERIOR) TOP & BOTTOM PLATE SCHEDULE
TOTAL # OF EQUALLY SPACED
BEAM A t BEAM L t #14x3/4" S.D.S. FOR EACH
PLATE TOP & BOTTOM.
4SB 3!’ 1/8” 4SB 8" 1/8" 8
418 3" 1/8" 4B 8" 1/8" 8
PRODUCT REVISEDR
65B 5" 1/8" 6SB 10" 1/8" 10 ;i
Buiding Cede
7LB 6" 1/8" o] 10" 1/8" 10
8LB 7" 1/8" 8LB 14" 1/8" 16
.. Miami Dad
9LB 8" 1/8 9LB 16" | 1/8" 16 Division
10LB 9" 1/8" 10LB 17" 3/16" 22

1
S.D.S. ﬂINTERNAL) TO COLUMN

NOTE: SPUCE DETAIL MUST BE
LOCATED AT 7'~0" MAXIMUM

Expiration Dotz O
Biu%ﬁﬂ/éw

oduet Contrsl

as complying wha the Flealds

Acceplanes No 06 -¢l]]2.0T

o/

F.B.C. (High Velocity Hurricane Zone)

/TiLlEcOome. \

TILLIT TESTING & ENGINEERING COMPANY
8355 N.W. 36th. St Ste. 305, VIRGINIA GARDENS, FLORIDA 33166
Phone : (305)871-1530 . Fox : (305)871-1531

EB-0006719

WALTER A. TILLIT Jr.,, P. E

FLORIDA Lic. # 44167

4

SCREEN ENCLOSURE i
RECOL ALUMINUM PRODUCTS| "mr®
13280 N.W. 43th AVENUE
OPA—-LOCKA, FLORIDA 33054
Phone : (305) 688-8687 ; Fax : (305) 6882224 06-006
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
OLD 84—193 _ h/15/06] 8 SHEET 4 OF 6




2)

INTERNALLY) TYP. TO BEAM

3/16" THK. x 5" x BEAM'S

A
x —
2" x 2" PURLIN W/
#10 x 1 1/2" S.D.S.

DEPTH 6063—T6 ALUM.

PLATE EACH SIDE (INTERIOR)
REQ'D AT ALL CONNECTIONS
EXCEPT AT MAN
SPLICE DETAIL

3/8" ¢ THRU BOLT:

ALUMINUM BEAM

() #14 x 3/4" s.D.5

RD BEAM

A

7 AN AR T T Y R

A T T Y

1"x2,09"x1"x.060"xDEPTH PURLIN ALUM. CHANNEL
W/ (2) #10 S.D.S. EA, LEG TO PURLIN
& (2) #10 S.D.S. TO COL OR BEAM

i 272" OR 2'x3" WITH T i
ALUM. BEAM OR.] (4) 10 x 1 1/2" sD.s. | ALUM. BEAM OR
ALUM. COLUMN |\ | INTERNALLY TO ‘BEAM /T ALUM. COLUMN
OR COLUMN. |
3/8" 6 THRU BOLT ¢ e L |
%
7 . - |
3/8" ¢ THRU BOLT | |
2{&6" T;IK. X Qr'c;;J"&LONG | |
M. ANGLES
BOTTOM OF 2” x 2" BRACE ~ RN
2" x 2" x 050"
/A DIAGONAL ROOF BRACE
SECTION ELEVATION OR PLAN

(ALTERNATE N°* 1) (ALTERNATE N° 2)

BEAM DETAIL

2°x2” OR 2"x3” CONNECTION TO COLUMN OR

2" x 2" x .050"
DIAGONAL ROOF BRACE

PERIMETER MEMBER

4" x 2" x 3/16" x 0'=3" ALUM. ANGLE
! (CASE 1, MANSARD & DOME ROOFS).
Mo 3" x 2" x 3/16” x 0'—3" ALUM. ANGLE
(CASE 2, FLAT & MONOSLOPE ROOFS).

3/16" THK. x 0'-3" LONG
ALUM. ANGLES TOP &
BOTTOM OF 2" x 2" BRACE

s

3/8" @ THRU BOLT
iy

3

2" x 2" ROOF BRACE
(SLOPED FOR CASE 1
& FLAT FOR CASE 2)

AN

3/18" THK. x 3" x 3"
ALUMINUM PLATE
FACH SIDE (EXTERIOR)

'— CORNER COLUMN

3" x 2" x 3/16" x 0'~3" LONG
ALUMINUM ANGLE

3/8" ¢ THRU BOLT

SECTION X-X

CASES 1 & 2

3" x 2" x 3/16" x 0'-3"
ALUMINUM ANGLE

DETAIL (7)

PERIMETER MEMBER

/—3/8" # THRU BOLT

2" x 2" ROOF BRACE
(SLOPED FOR CASE 1
& FLAT FOR CASE 2)

4" x 2" x 3/16" x 0'~3" ALUM. L
(CASE 1, MANSARD & DOME ROOFS)

"x2x3/1" =37 ALUM.
: PLATE EACH SIDE (EXTERIOR)
SECTION X'-X’ !
DIAGONAL ROOF BRACE CO
F BRACE NNECTION CASES 1 & 2

’VZ /e

DETAIL (9)

LAST PANEL ROOF
BRACING REQ'D AS
PER SCHEDULE.

EXISTING STRUCTURE

4

i////////

N\ /
L N\ /
ud \

INTERMEDIATE PANEL
DIAGONAL ROOF BRACING
REQ'D ALWAYS EACH SIDE

FIRST PANEL ROOF
BRACING REQ'D AS TY_PE_A_
PER SCHEDULE.

(PLAN)

ROOF PANEL

INTERMEDIATE
ROOF PANELS

FIRST
ROOF PANEL

DIAGONAL BRACE -l
REQ'D. ONLY THIS

/1Y,

LOCATION.

N\

EXISTING
7 STRUCTURE

/

S\

TYPE B

(PLAN)

ROOF BRACING REQUIREMENTS

NUMBER OF DIAGONAL BRACING REQ'D AT FIRST

AND LAST ROOF PANELS IN ADDITION TO

INTERMEDIATE ROOF PANEL BRACES SHOWN ON PLANS

" L 0'-20" | 20'-25' | 25'-30' | 30'-35'
0’8’ 2 2 4
>8'~9’ 2 2 4
>9'—10’ 2 4 4
>10'=12' 2 4 4
>12'-14’ 4 4 4
>14'—15' 4 4 4

L = ROOF PROJECTION

H* = SIDE WALL HEIGHT OR THE AVERAGE BETWEEN
THIS FRONT WALL HEIGHT AND THE HEIGHT AT

EXISTING STRUCTURE.

PRODUCT RE
as complying

Buiding C
Agcepian

I/Z ol

e
Exg&e;“i\mﬂn o371/ 'Lo{[

F.B.C. (High Velocity Hurricane Zone)

/TiLlEcom \

TILLIT TESTING & ENGINEERING COMPANY
6355 NW. 38th. St Ste. 305, VIRGINIA GARDENS, FLORIDA 33166
Phone : (305)871~1530 . Fax : (305)871-1531

EB-0006719
WALTER A. TILUT Jr., P, E.
FLORIDA Lic. # 44167

SCREEN ENCLOSURE P
RECOL ALUMINUM PRODUCTS| "i¥®
Phone : 0(5:5;L;:(;E§:68:L;0§EA: (3;2;54558-2224 06-006

REV. No

OESCRIRTION

DATE

REV. No

OESCRIPTION

DATE

OLD 94-193

i/13/068

3

4

SHEET 5 OF 6




SUPERGUTTER 2-3/8" ¢ x 8" LONG LAG SCREWS AT EACH SIDE 4.824"
_ _ OF ROOF BEAM W/ 1" x 1” ALUM. SLEEVE EACH LEG -
ARROW uchm—:s BOTTOM_ALUM. ANGLE 2° x 4 3/4" & W/ 2 1/2° DISTANCE FROM BOTTOM OF .
= x 1/8° x 0'~8" W/ (2) 3/8" 8 x B" LAG EXISTING RAFTER OR TRUSS GUTTER ADDITIONALLY, USE SAME LAG SCREWS & — I— 187
f scasws TO FASCIA’ SPACED AS SHOWN & (2’~0" 0. C. MAX.) SLEEVE © 24" O. C. BETWEEN BEAMS. -
2" x 5" x 1/8" x 0'—6" |l g» W/ 1" DISTANCE TO BOTTOM OF GUTTER. 251 /8"0'~6" WIDE ALUM. ANGLE EA .
W 2 ks Lone o 1" x 27 ALUM. CONT. W/ § 10 x 1 1/2° — ROOF BEAM W/4 §12 x 3" LONG TO FASCIA 1.280° oy
FASCSA gs) #12 x 3/4" = ‘74._/— S. S. S, M. S. ® 16* 0, C. TO SUPERGUTTER & (5) #12 x 3/4 S.S-S.M.S. TO GUTTER LIP.
S.D.S. To GUTTER LIP. 1 & (2) # 10 x 1 1/2 S. S. S. M. S. (INTERNAL) 17x2° CHANNEL TO BEAI
N 11 TO ALUM. BEAM EA SIDE. W/ (2) #10 SSS.M.S. (!NTERNAL) 3.254
il s 2" x 2" x 1/8" x 0'~2" ALUM. ANGLE EACH 2"x2"x1/8"x0'=2" ALUM, ANGLE EA, SIDE . 2.048"
—— P SIDE w/ (3) 10 S.D.S. TO BEAM AND 1/4” ¢ W/ (3) #10 S.DS. TO BEAM. 125 4.865"
3 = THRUBOLT EACH SIDE OF BEAM THRU ALUM. ALUM. BEAM .
B 21/2" | i ANGLE 1" x 2" ALUM. CHANNEL AND SUPERGUTTER. v - o 3.778"
>l 21/2 | (TYP 2 SIDES). 1/4" THRUBOLT EA, SIDE OF BEAM THRU 2°x2" ANGLE. \ 13
. = BOTTOM FLANGE OF BEAM NOTCHED HORIZONTALLY ] |
( , \_ALUM. BEAM  * REINFORCE FASCIA CONNECTION (OPTIONAL) & REINFORCED W/ 1 1/2% x 125"
5 TO EXISTING RAFTERS W/ x .062" x 0'—4" LONG ALUM. CHANNEL w (3) #10 x 3/4* 604" 1.811"
! ‘('?300242 ® x "é 1 /é LONG . S.D.S. EACH SIDE. (MANSARD ROOFS ONLY). .
I{IRN 0. C VERTCALLY oD QV B%xgg": ;gSFCF"r? 5" x 5° x .072" CONT. ALUM. SUPERGUTTER. A28 I
D T . .
+ EXISTING FASCIA BOAR | EDGE DISTANCE TOP & BOTTOM REINFORCE BOTTOM OF sz403 cth1/3 x0'—6" ALUM, ANGLBE CENTERED W/ BEAM SUPER BRACKET (" LONG) (REQUIRED ONLY FOR
(2°6” Min. NOMINAL) OTTOM OF AT B OF GUTTER W/ (2) 3/8"#x8" LONG LAG
in. [§1 5" >—(2) 3/8" 8 x 8" LONG LAG SCREWS AT EACH SIDE FASCIA W/ 2°x2"x1/8" CONT. SCREWS TO FASCIA W/ 1° DISTANCE TO BOTTOM SCALE : 3/4" = 1" REINFORMENT TYPE 2)
Ik OF ROOF BEAM W/ 17 x 1" ALUM. SLEEVE EACH LEG ALUM. ANGLE W/ (2) #14 S.D.S. OF GUTTER.
&EW 21/2" DISTANCE FROM BOTTOM OF EACH LEG, EACH RAFTER.
= GUTTER ADDITIONALLY USE SAME LAG SCREWS & ATTACH SUPERGUTTER TO FASCIA BETWEEN ROOF BEAMS
— SLEEVE ® 24" 0. C. BETWEEN BEAMS. WITH 1/4 x 2 1/2" LAG SCREWS @ 20" 0. C.
SECTION B — ) #14 x 1° SDS. T0 2')):#2' CHANNEL WITH
x .D.S, 2) #14 x 2" S.D.S. TO SUPERGUTTER
_.__PLAN amc?“_)s%';%R‘,BEACKF}ZTO FASCIA SUPERGUTTER EACH ANGLE. THRU 2" x 3" ALUM. ANGLE
SUPER GUTTER REINFORCEMENT DETAIL TYPE 1 LAG SCREWS THRU SUPERGUTTER. -
SUPER BRACKET P ROOF BEAM
- SUPER BRACKET
SUPER GUTTER CONNECTION DETAIL (5) -7 Roor o
e
/ e
e
e
L33 4
E/)a'#EXTRUD}-:D Alum. BRACKET WITH CABLE SCHEDULE ° 7 /
9) #14 x 3/4" S.D.S TO WALL MEMBERS
y TOTAL N° OF CABLES REQUIRED AT FRONT WALL -7
5/16"8 S, S. EYE-BOLT WELDED o
CLOSED WITH DOUBLE NUTS & WASHER. DISTRIBUTED 50% EA. END \\
N 0'-20" | 20°-28'| 25'-30" | 30'~35" | CLIP LEGEND /
2" x 3" x 1/4" x 0'—4"
' o 4 4 TYPE 1 27x6" Min, NOMINAL
0'-8 4 6 4 6 6 6 £ 9 FASCIA REQUIRED ALUM. ANGLE _EA SIDE (2) 2" x 3" x 1/4" x 0'~2" ALUM.
(4) # 14 x 1" SDS. TO »
4 2 o o BEAN EACH ANGLE L EA. SIDE W/(2) 1/4" ¢ BOLTS TO
>8'-g’ 4 [ [ 8 SUPERGUTTER . SUPERGUTTER FOR TOP ANGLE & (2
¢14 SMS, FOR BOTTOM ANGLE & W/(2)
DOUBLE COMPRESSION SLEEVES >9'-100 |4 5|4 5|6 5|8 8 14 x 17 SMS TO ROOF BEAM EA. ANGLE.
1/5 STAINLESS STEEL CABLE 7 ol . . a4 5 Py 8 CASE 1 _S_E_QIM‘LS - CASE 2
CUT FROM 1" x 5" ANGLE >10'-12 6 8 8 10 e aw
SCALE : 1/4" = 1
(6063-T6 ALLOY)

cnt 4 gt 6 [ 8 10
| ANGLE BRACKET DETAIL >12-14 6 8 10 12 2" x 3" x 1/4" x 0'~4” ALUM. ANGLE EACH SIDE
6 8 10_~12 0 5785 % 2 12 LAG SoREWS THRU 76 ROOF BeAM Mb () /8- 8 (ac BoLTs
s 4) 3/8° 6 x 2 1/2" LAG SCREWS x
PERIMETER MEMBER >14-15 8 8 10 12 SUPERGUTTER. THRU SUPERGUTTER TO FASCIA
_l : - () #14x1° SDS TO SUPERGUTTER.
# USE ONE SET OF CABLES ON RETURN WALLS FOR PROJECTIONS (L) FR R :
: bl
-

OVER 16 FEET.
1/8" STAINLESS STEEL CABLE
oLuM CHAIR RAIL
DOUBLE COMPRESSIONSLEEVES ""

45" Max. (Typ.)

PRODUCT REVISE]
___________ as mm‘agwm Wi
'Seji&

1/8" STAINLESS STEEL CABLE
DOUBLE COMPRESSION SLEEVES

- PLAN

SCALE : 1/4" = 1"

20

.i Priea

J

1°x2° BOTTOM RAL

By
\ Biami Dade
V Y supereuTTER Division

—emal ) . SUPER GUTTER REINFORCEMENT DETAIL TYPE
v 2o A 2g ot i RN e R
AN 178" . | (6083~T6 ALLOY) F.B.C. (High Velocity Hurricane Zone)
e H TN TYPE 2 CLIP DETAIL ANCHORS. 0| CONGRERE SuAg ‘ .
4. 9 _\_3" ASTM. A~36 G-60 GALVANIZED STEEL CLIP WITH W/ 1 5/8" MIN. EMBEDMENT SCREEN ENCLOSURE A

(2) 3/8” HILTI KWK BOLT 3 ANCHORS TO CONCRETE SLAB

MAINTAIN 3" Min. EDGE DISTANCE W/ 1 5/8" MIN. EMBEDMENT ‘ 1/13/06
JYPE 2 CLIP DETAIL DATE
P I".IECO NC. RECOL ALUMINUM PRODUCTS

T ) 13280 N.W. 43th  AVENUE
ALTERNATE TO CLIP TYPE 1 @\_@1@;@\5 TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, F'-°R"3A 33054 06—-006
TYP IC AL SCREEN W AI L C A BLE BR AClNG SYSTEMS - e 6355 N 38t ?}o 5;.7 305, VIRGINA :m(sos)asitﬂiosg? 33168 Phone : (305) 688-8687 ; : (305) 68a-2224 DRAWING No
N. T. S. Z \,—} / C‘)ég EB-0006719 REV. No DESCRIPTION DATE REV. No DESCRIPYION DATE
7 N ion Lo “ea 167 & : AD 94193 Wjisjosl 3 SHEET 6 OF 6
ic. § 44187 2 4+




